S2 Check Up on Algebra and Solving Equations

1. When v = 1, w = 3 and a = -6, calculate the values of

(a) 4v + 3w + a

(b) 10v + wa 

(c) 10vw – 5a

2. Solve the following equations:

(a) 6x + 4 = 52

(b) 4x + 1 = 23

(c) 10x - 6 = 7x + 9

3. Factorise:

(a) 6m – 24

(b) 35w – 5

(c) 20a + 25b

(b) 6pk-8pd

4. Solve the following equations

(a) 3(b + 4) = 6

(b) 6(2h – 3) = 10h

(c) 5(q + 3) + 2 (q – 5) = 23
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5. Lucy had 4 bags of sweets. Adam had 2 bags and 6 loose sweets. Lucy and Adam have exactly the same number of sweets.

(a) Make an equation to show this information

(b) How many sweets does each person have?
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